EARAROBREBRT —5 XN—ZXBISH—F

2024548378 (B) 1EHEE2H

(0 || ElRsSRI SR 3% ‘(fﬁl 8 ‘[%EH%FEEH - | & 17500 feEm
[xE%] 15:800,000H  23&:25,000H  3&:144,000 . 43%&:9,000 W 5 3&:64,000 4
SR RESS /M 3 BF (FB) |94L (EFD | BBIEM | b3F [SiER | AR | #8 | B8 R / B / £E%S
~ P FILFRH : -3-2- - SHEBIF (8)
1 NE P €3 2 1.(5_6).8 3-3-2-1 | 40.0 2 (43‘3 s =
RINVIT—=I—=)b B:¥avbrh BB #3
S5 T5 w3 3 | LUABAE 1:57.2 5-5-1-2 | 40.4 | — 4 449 |REM (EH)
] » PIPEEPPEDPE! "3 KD & vy |TYIVEE @
RiTALh—L B:959YL—Y 759V HEHS
. —n EEE—EB : -6-4- - LIE®E (E8
31111 JrT)LFRT—0O 3 54.0 1'(55?)'1 6-6-43 1 40.9 ! (4:)77) %iﬂ’.ﬁ:( )
RRZAMIx—U7 B:INFavT Sl
3 | IE® 1:58.6 10-10-8-8 | 39.4 | -— 9 443 | LWEEA (E5)
4|55 | ¥XARILII S it 56.0 @172 @) | LS h
RNV vH—)L 8:T7)—YIIL b Fh/T7—LA
D 4 3 | BllliEsE 1:59.1 7-7-6-4 | 4.5 -— 5 467 |BETE (E8)
5/gl9|ETVHRYILO 54.0 21/ 4 |BREF
RIZVTGVE/ /T BEIVRISVI % eI N
. 7 - : -8-9- - Kigggx 5
6 4| FAX1ERDY 3 Qfﬁi 1.(55.9 9-8-9-9 | 40.5 8 :1:30) Ez&g_ (E&)
R:T—JURI—R B:FAAXATvRZY #HotEE
HAKIBA : -4-5- - oENXE (L8
7178 IA43—AlLA "3 567.0 2'?2(;'3 55 1432 6 (4_% ﬂJﬂEEii?E i
R:O—-RNUFR B:5SAhDTALT AH 1F
= st 3 | WTER 2:00.6 2-2-7-6 | 43.4] — | 10 | 42 |EHBF (£E)
81810 X7 X/ AA= 4.0 a 172 o |EH—Z
R:ALYISvIEL B:IJeILFE— BEKS
. |I|S%HE : -9-10- - SHERIF (£8)
9 6| RI—FT— 43 L 2.(031).2 8-9-10-10 | 41.3 7 (4_5;) i =
RVEWYF— B:R—U—AR BEKS
= .o~ s 3 | BEE 2:01.5 1-1-3-7 | 44.7| — 3 484 | FWERES (£8)
1017 7 TATILYARY $¢55.0 12 Ca |TEER
RFAILAIVYT B:AXI/IA BN
@ 11— —BERIEI
==h= 7,10,3,8,2,1,9,6,4,5
20— — 7,10,3,8,2,1,9,4,6,5
30—F+— 2,3,7,1,8,9,10,5.,4,6
41—7— 3,2,1,9,8,10,7,5,4,6
0 ILRE
BB 3 260 JA R 2-3 310 & 2-3 980H 3ER 1-2-3 690
B B 3 120H 1-3 160H 5 & 2=2) 9004 3Es 3-2-1 3,770
2 140/ 1-2 400M oS- 1 3-2 1,520
1 130M9

ABIC OV TRUTEREERRODDZE. THRIIZEL.




